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Scenario 1: This illustrates a comprehensive retirement plan for Tony and Jennifer Callahan, ages 45 and 40. It
involves producing their desired, spendable, retirement cash flow using their current assets and benefits included
expected growth.

Scenario 2: This involves additional values produced by adding an IUL policy which increases their net worth
considerably even though the premiums for the IUL are funded by asset transfer, not an out-of-pocket expense.

Scenario 3a: This involves using some of the increase in net worth in Scenario 2 to produce more spendable,
retirement cash flow. With Scenario 3, net worth ends up the same as Scenario 1 but adds a significant increase in
spendable, retirement cash flow.

Scenario 3b: This involves substituting inexpensive level term insurance for the IUL, a poor alternative as it reduces
both spendable retirement cash flow and net worth.

Comparison 1: This compares Scenarios 1 and 2.

Comparison 2: This compares Scenarios 1 and 3a.

Comparison 3: This compares Scenarios 1, 2, and 3a.”

Comparison 3: This compares Scenarios 3a and 3b.*
*Probably the most effective comparisons.
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